ATARBEFRAEE L HIEALLRRM

TMIEBE - FELASA  MUASREZENS - tELaAPESA
A |amssuss puss  saenes |F 0 0

HAFEEH - #HPL DRRES L

93/5/1

£t 8 i 2, MAS

HLBRBE HBERATLEEREN AERERENE R Foh5 -
BT A o

e 2
1. ZuumeEeqg
2. WRMBENRATHERSUAEREL ST -

PartI: & (30%)

P the truth, T would tell you
(A) knew
(B} know
(C) have known
() will know

M

I will go camping this weekend . it rains or not
(A)which

(B) whether

(C) unless

(1) though

3. Mary breakfast at eight in the morning
(A} is having always
(B) always is having
(C) always has

(D) has always

4, She didn’t finish her homework, and

{A) either did |
[]'h:sn did |

(€) T didn't, too
{D} 1 didn't, either

3. All things . John is a very good husband
{A) having considered

{B} 10 be considered

{C) considering

(D) considered
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6. It is common knowledge that cheese milk
(A} makes
(B) is made into
(C) is made from

(13} is made of

7. The day was rainy, and WIS Worse, it wias stormy,
(A)s0
(B) such
{C) what
(Dywhich
8. Never in all my life _such a beautilul sunset.
(A1 have seen
{B)have | seen
{C)saw |

(D)1 saw

9 _ grezingin the field.
{A) Cantles were
(B) Cartle were
{C) A cantle was
(D} A herd of cattles was

10. Sunlightismo _____ necessary to good health than fresh air
(A)less
(B further
(C) better
(D) more
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11. The police are here to the crash

(A) interest (B)ignore (C)create (D) examine

2. The restaurant was with people.
{A)wondered (B gained  (C) delivered (D) crowded

13, When you apply for a job, the employer will want to know how well you did in your

_job.
(A} previous {B) precise (C) precious (D) private
14. Tim has been __to work in Japan
{A)assigned  (B) embarrassed {C) recycled (D) annoved
15. It"s not easy o be in o foreign language in a short time.
(A) grave (B) fluent (C) infuential (¥ confusing
16. Our _ have passed down 10 us a rich cultural tradition
{A) grandsons (B} citizens  (C) ancestors (D) officials
17. Complicated work requires a ___person to carry it out
{A) careless  (B) hostile {C) patient (D) naive
18. From the on the radio, there will be a storm tonight.
(A) videotape  (B) broadcast {C)y appliance (D) network
19. The English language has many words from other languages

(A) dismissed (B} absort

d (C) arranged (D) invested

20. That could not be a mere accident. He did it hurt him.

{A) necessarily {B) dogmatically (C) deliberately (D) incvitably
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Part II1: Mok 2% (40%)

Did you know that a change in the weather can affect your behavior? For example, a

Japanese scientist studied the number of packages and umbrellas left behind on buses and

sireetcars in Tokyo. He found that passengers were most forgetful on days when the
burometer fell. Also, after studying patterns of car accidents in Ontario, the Canadians found
thal most accidents took place when the barometer fell. Other studies show that a sudden rise

in

21.

]
{57

within a low-pressure area can lead to destructive acts, including suicide.
] F S

According to this passage, a change in the weather_
(A) is caused by the behavior of people

(B) affects the way people behave

(C) affects personal behavior only in Tokyo

(D) affects only those who ride buses and strectears.

. When the barometer fell in Tokyo

{A) hundreds of people were injured by the falling debris.

(B) people’s memories improved

(C) people always brought umbrellas with them when they went out.
(D) people tended to forget things on public transportation.

3. The studics mentioned in this passage show that changes in the weather produce all but

which of the following”

(A) temporary forgetfulness

(B) a lack of coordination in car drivers
{C) a reduction of pressure at work

(1) suicides

Tt can be inferred that when the barometer rises
{A) more people will commit suicide.

(B) people will be able to concentrate better.
(C) people will suffer less pressure.

(1) people will not drive as much
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25. What is Ontario?
(A) It is a research institute.
(B) It is s barometer
(C) It is a city
(D} It is a Canadian province

I'he monster came toward us with iwice our speed. We gasped in amazement. We were
awed and silent. The animal came on. playing with the waves. It circled the Abraham Lincoln,
and then moved away two or three miles, leaving a bright wake. All at once it rushed from the
dark horizon toward the ship with a frightening speed. When it was about twenty feet away,
the light suddenly went out, and then appeared on the other side of us, as if the monster had
gone heneath us

26. In the above paragraph, what do you think the monster probably is?
(A) A ship
(B) An elephant
(C) A whale
(D) A giant wave
. What does the name Abraham Lincoln stand for in this paragraph?
(A) An animal
(B) A ship
(C) A big fish
(D) A famous person

What is a wake?

{A) Itisa kind of light
(B) It is a il

{C) It is a monster

(D) 1t is o path in the water
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